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» s there a difference between accounting systems and financial information

systems 7 Explain why? Hoew can financial information systenis benefit business
managers?{10%)

— » What is EFT? Compare the advantages and disadvantages of GFT with traditional

chieque processing.  How does the issue of float relate to EFT?(10%)

=~ A perfect number is a positive integer such that the sum of all its factors equals to
the number itself. Use the proper flowchart of procedures to show the software
system which finds and prints all the per(ect numbers between 0 and 100.(15%)

Y ~ How does prototyping methodology differ from the traditional system
development life cycle methodology? What issues should be taken into
consideration in deciding whether to develop a new system using the SDLC or
prototyping or some mix of these two methodologies?(1%)

T~ FoWRE (FRRSALA 40 FLUAMACERIE)
1. Internet Bl Intranet fAH SRR 2 (3%)
2. XERBERMTHIERERIR ? (3%)
3. Loader Bl Linker 8425[FIEL ? (3%)
4. HFEE C B CHEMHRR 2 (3%)
5. Database server i File server (94754 7 (3%)
6. BREASFRAR T PCI B SCSI BYFHEEE 2 (3%)
7. ASCI! §d Big 5 SYH[EIEL 7 (3%) :
8. Serial transmission £ Parallel transmission 44523 7 (3%)
9. Algorithm i Function B zbAFHEUR 7 (3%)
10. Soft copy ¥i{ Hard copy HAHS2IE ? (3%)
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#include  <sidio >
#include <math h>

int maze(int p)

R s K2 % 2W

{
inl  rool, divisor,
if(p<4) return(p> 1);
else if {t(p % 2)) return(0);
else §
reot = sqri{(deuble) py + 0.5;
for (divisor=3; divisor <= rool && p%edivisor 1= 0; )
divisor += 2; :
rcturn {divisor > foot); -
}
}
main ()
{
it nk;

printf ("Enter an integer; );

scanf ("%d", &n),
printf ("\nResult 10 % is: *, n);
if {maze(n))
printl {"%dwn", n);
cisc {
if{n"%2) k=2
else k=1

while (£} {

il (maze{n+k)) {
printl ("%d\n", n+k);
rcluin;

H

if (maze(n-k)) {
printf ("%edun", n-k);
refurn;
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